[image: image1.png]xR A N
2000 43 HHRIBE S EE— %R
ESd 2 (AR
FREEMEFENIEEFAEABDS . 2E# 57, REENS | T2 7, FREEH
B3 ES T, #5150 5, HiXaiE 120 b,
WELENERSRFALENERA SESER L,
WIS (£505)

ERRE:
LB A 5 K ] © A MEHE S R PR S PSRN SIS et | o
2. E/NEEHERIG 2B S B L X B E MERF SRR, nish, g
BRTHE R EERFS . FREERES L.

AR
IR AB TR B BAEBAR
P(A +B) = P(A) + P(B) V= Sh
MR A, BT b S HRRBMREE KRR AR
P(A - B) = P(4) -[P(BY BHOHBAR
WA KRR R PR BAn g
W TSTRRAN A R kKRB 3
P.(k) = CLp*(1 =p) ™ (k.=0,1,2,,n) I S FTRBEMREHTEL, b JTRBRAEN T
HORTHAR BENRRAR
5 = 4nk® V= hhes + 55 4

N
e~ Tt 5,5, AIATRAME TRER,
v =3 (Feree
et R AR

—RFEE: AKEHR 10 ME, HMES 5, #£50 5, EHMEAHHIMERS, RE—
HRHAEEERN,
(1) B U=RA={x|x50] B={zlx>1} WANC,B=

(A) {z|0=x<1} (B) {z|0<xs1} (C) {x|x<0} (D) {x|x>1}
(2) B a,b RIBM“a>0 Hb5>0" R a+5>0 H ab>0"f)

(A) FERTARLERNE (B) LEMARIEIHKAF

(C) L LTI D) BERFIHOA LB

(3) z=14i (i RAYORED), W2+ =

(A) =1=i (B) =1 +i (©) 1=i (D)1 #i

Z W (B )REE 1 T(#5m)





学而思教育·学习改变命运 思考成就未来！                 高考网www.gaokao.com

[image: image6.jpg]



[image: image2.png]() E=IR -L)* WRIR & o TR
(A) -10.; (ﬁ 10
(c) -5 (D) 5

(5) =B ABCA,B,C, ', SBKHG WEEHTF
JRT, K D ZMTE BB,C,C 0, W AD 5F i

BB,C,C A MR,
(A) 30° (B) 45°
(C) 60° (D) 90°

(6) REFIERMMEPTR , LRIFETT/E 9 k 090
S
(A)4 s
(©6 ?ﬁ) 7
(7) ik a,b W/2:1al =3,151 =4,a - b=0. Lha,
bia =b WEH KR =ML, MERDS R
B 1 HEMASRNBIRE R
(A3 (B4 ©s
(8) B o RIH, MHPYT) =1 +asinax EAVRTHER
¥ ¥

(9) MR T = (45706 > ORI A -1 IR, IR S5
HAEABIA SN B,C . HAB = B MRBANB ORI

)2 (B) V3 ©5 (D) V10

(10) MFEXMK a, iE M, BWE T RN ELS () WRKRE: YV, neRHxy>xn,
# -alza=x) <feidj-f(n) Saln —n) GFFGRTERNE
(A) #f(x) €My, 8(x) €M, JUf(x) " g(x) M, .,

(B) #(5) <M, (=) M., () 50, WL iy

(C) Efx) €M,,, g(x) €My, ) +(x) Moy
(D) %) Mgy g4K) Moyl ey > a /() - 8(0) <M.,

ZWF (B REE 2 A(H#5T)




[image: image3.png]A x HRERN
2009 F R BH S HIAELELE—ER
E R 16 )
BB (3100 )

R

L ARAFENET ERMEHEREEREEL , FREERES b

2. fE AR L AR, VTS 2B S, SRR LSRR T ERMERR.
ZOHEE: RXEHTNE, S0E4 S, #2895

(1) @R o) 08t g =5 M n TANS, il s
wie : %
(12) R = W (i o) TR,
SITHRBYE et v
x+y=2, T
(13)B5H x,y WRAGAL 26 -y <8 W 26 +3 3
x-y=0, 1
MR wam

(%12 )
(14) FHo I BV PR G A 4 B B BL AT 41 6. A s
HEWF:

R B R A R B BB i
A i L e A it ARG
CRALTRE) (BT FRI)| (RELTRM) |GREL5T/ TR
50 B AT h9#B5 0.568 50 BT ##5 0.288
i 50 200 HIS 0.598 AL 50 200 HIERS 0.318
g 200 HEES 0.668 i 200 HEESH 0.388

FRRBES F w5 e (5] BT iy 20'3 FRA, A EBAR Ry 100 TR
B, AR 307 SRR A A R R 2N TG IR

Z ¥ (M) REE I B(X5T)




[image: image4.png](15) WA T A%
=2~

G+ +G=2" ¥
Chy+Ch+Ch+CB=2" - 2°,

Cl +Ch +Ch +CP +CJ =2% 427,

B A AR AR — A — RS
XTFneN",Cl,,, +Ci #Ch %+ Chy) =7 soocacen,
(16) H.Z.A3 Ai&ﬁl?ﬁlﬂjﬁwémt EBRRNBEN2 A, FA-REH EWARK
SO, MR TR Jiit .S 08 :
(17) 0B {EK I ABCD o ,AB=2,BC =1,E J DC (4 %, F LB EC(HABRAM) £~
4. JH AAFD ¥y AF 377, 46 T ABD L VT ABC . 46F il ABD WX D fF
DK LAB,K JF 2. B AK =, 0 ¢ (YIRAITE AR

: AXE S ME, #7250 RELSHXFRNA, ERLRLRAT R

(18) (A4 14 4¥) £ AABC i, fis A, B, C FiXH 2151510 a,b,c Eﬂﬂe«—-z—s‘é.
AB-AC=3. ]
(1) 3RAABC {8
() #&b+e=6,Rafifil.

(19) (AIEiigh 14 é'));;ﬁhi.z.3,-~-.9ﬁ9 0 ¥t HERS K ;
(1) Ri& 3R | AR
(I 32 € Jix 3 MCRPRURSB AL (ﬁﬁﬂ:imn‘hﬁﬁh‘l 23 A PAREH

1,2 712,3, B8 £ R 2). SREGHLAER £ B4 A5 BOLHOERIR EE .

Z ¥ (EM)REE 4 W(HSTH)




[image: image5.png](20) (AE¥SH 15 4%) W0, Sl PAC Ll ABC, AABC
RLAAC K #Hh BB 1 =Y, E 6, 00551 %
PA,PB,AC )15, AC=16, PA=PC=10 .

(1) B CH OC %, VB : FG// - BOE;,
(1) B3 4E AABO PAFLE— i M, {8 FM L3 BOE,
FRAR M 2] 04,08 (R .

(21) GRIBWS 15 50) ESRI €, L + 5= 1(a>0>0) i

TUsh AC1,0) 3 C, AR HEHRAMMLR N 1.

(1) kil C, w7 8;

() BR PLEWMPLR Cr:y =<* +h(heR) E,C, 74 P
REWYIRS C, T RMN . HRBAP MRS MN
BB AT SR, 3R b S8/ (5 21 1)

(22) GRS 14 ) EMBEHS(x) =2 - (K -k +1)2" +52 -2, g(2) =k +he +1, 3050
keR. 2
(1) BEHp(x) =f(x) +g(x). # p(x) EKI(0,3) LA, R k MTALTEH ;
g(x), x>0,
(1) B q(x) :{/(z), co, EBHE L HERBEIERIN 5 A~
WAEFSHA () o' ()= (o)) IRSL? LR b OO A
I .

Z M (EH)REE 5 TT(#£5H)
































































5

